6) (51 3HAIO = 51 HE 3HAIO )

Mopenb 1: Mopenb 2:

— K70 37107 — K70 37107

— 91 He 3HAI0, KTO 3TO. — 3710 BukTOpMS.

— Y10 3107 — K10 0Ha?

— 9 He 3HAI0, 4YTO 3TO. — 91 He 3HAI0, KTO OHA.

D A 3ADAHME 23. Tect (makcumym 18 Gannoe).

Bonpoc «4T0 3T0» / «KTO 3TO» UIN «KTO OH»? ,Ef

Mopenb: K10 OH? — OH nNunoT.
KTo 3107 — 370 Anekcéi.
1. — 370 KOMMbIOTEP.
2. — OH TakcwucT.
3. — 370 MbI.
4. — OHa npenopasaTensb.
5. — 370 paavo.
6. — OHa cTynéHTka.
7. — Mapwna — opucT.
8. — 3710 3é6pa.
9. — Tbl CMNOPTCMEH.
10. — 370 TIONbNAH.
11. — Bbl pogutenn.
12. — 370 péTn.
13. — 370 KOT.
14. — 370 pényuka.
15. — 9 cTynéHTka.
16. — Mbl 3KOHOMWCTHI.
17. — 370 Cawa n Mawa. — OHV MYXX M1 XEHA.

— Jo cBmnganus!
— [Moka! o 3aeTpa!
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\ypOBeHbA 1. Yactsb I. Ypok 1
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